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Mo b alpln pn bk zeros(n)

Nanl Sl iyl eye(n)

Ol g alpbm pn b rand(n,m)

Ol g alplbn on b rand(n)
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al=ones(2,4)

1 1
1 1
aZ=ones(3)

1 1
1 1
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a3d=zeros(1l,5)

0 0
ad=zeros(3)
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ab=eye(4)
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aec=rand (1, 4)
0.9502 0.0344 0.4387
al=rand (2, 2)

0.7€55 0.1869
0.7952 0.4898
ag=randperm(5)

5 1 2 3 4
a%=randi([-2,2]1,3,2)
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1 0
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bz =
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>> bl=length (B)
bl =
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>> [b2,b3]=length (B)
Error using length
Too many output arguments.

>> bd=min (B)
bd =

1 0 ]
>> [b4,b5]=min (B)
bd =

1 0 ]
b5 =
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»>> bée=min (min (B))
be =
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b7 =
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>> [b8,b%]=max (B)
b8 =

8 5 4
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»>>» F=randi([0,20]1,3,4) »» [£5,f6]=sort (F) %;
F = fh =
17 8 13 9 1 g 6 0 v
16 11 13 0 16 a 13 g 3)
1 8 6 20 17 11 13 20 3:
>>» fl=sum(F) f6 = 2
o 234 27 32 29 3 L 3 2 %é
>» fZ2=sum(sum(F)) z 3 1 1 a
_ 1 2 2 3 i
f2 = m
122 ji
>> f3=prod(F) —
£3 = <§f
272 704 1014 0
>> fd=sort (F)
f4 =
1 8 & 0
16 8 13 9

17 11 13 20
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al=sin(0)

0
aZ=cos(0)

1
a3=sin(90)

0.8940
ad=cos (30)

-0.4481
ab=sin(pi/2)

1
ae=cos(pi/2)

6.1232e-17
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bl=sind(0)

0

bZ2=cosd (0)

1

b3=sind (90)

1

bd=cosd (90)

0

b5=sind(pi/2)

0.0274

>> bé=cosd(pi/2)
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>> a=exp(l)
3 =

2.7183
>> b=log(2)
h =

0.6931
>>» Cc=3qrt(9)
c =

3

>>» d=nthroot (9, 2)
qd =

3
> e=9"(1/2)
E:
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>> g=exp (exp(exp(l)))
g =
3.8143e+06

>> h=log (exp(log(exp(1))))
h =
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>»> 1=sqrt (sqrt(sqrt(256)))
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>> a=fix(pi)
3 =
3
>> b=fix(-pi)
h =
-3
>> c=floor (pi)
c =
3
>> d=floor (-pi)
qd =
-4
>> e=cell (pi)
o =
4
>> f=ceill (-pi)
f =
-3

>> g=abs (pi)
g =

3.1416
>> h=abs (-pi)
h =

3.1416
>> 1=round (pi)
i =

3

>> J=round (-pi)
j =

-3
>> k=vpa(pi, 6)
k=
3.14155
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hez 234
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>>» a=]oad("'New Text.txt')
a:

=
2
i
d
3
lfl‘
ag)
3
<
p=

102 234
234 43548
2173 457
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Faste I:Ij Font | Alignment Mumber 5Styles  Cells +
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Clipboard Editing &;’
ca - fe | M Qa
4] A B | c | o E F 6
1 1 24 34 ‘%
2 23 23 34 E P
3 2 56 56 i
] — =
> ]
6 B
7 i <
M 4 » | Sheetl Sheet2 . Sheet3 . ¥a |4 | i | v [1] =
Ready | |@]@|Pﬂ 100% (=) () (+)
»>> b=xlsread('New Microsoft Excel.xlsx'")

b =
1 24 34
23 23 34
2 56 26
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| Untitled® | 4 |
1 function [ output args ] = Untitled( input args )
2 FUNTITLED Summary of this function goes here
3 % Detailed explanation goes here
4
5
6

end
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function [ A,P ] = test 1 ( R )
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end
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Indent =R \_ Find = - - Advance
EDIT NAVIGATE BREAKFOINTS RUM

a-FZahra » Documents » MATLAB » tadric » torbat_mec 2

el d¥ i
Current Folg B Editor - Untitled*
b Save Al [ Untitled* 32| + |

function [ A,P ] = test 1 ( R )

Mame

) CH2 1.n Bl save Copy As...

A=pi* (R"2) ;
P=2*pi*R;

end
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Current Folder ® >> test_1
Error using test 1 (line 3)

Mame =

£ test 1.m Not enough input arguments.

>> [masahat,mohit]=test 1(10)

masahat =

=
2
i
d
3
lfl‘
ag)
3
<
=

314.1553

mohit =

test_1.m (Function]

62.8315
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>> g=maghloob 1(27)
q =

12
>> gZ=maghloob 1(45)
qz2 =

54
>> maghloob 1(1)
ans =

10
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| maghloob_1m* | 4 | :
1 function [ m ] = maghloob 1( n ) 3’
: £
= a=mod (n, 10) ; %
4— | b=(n-a)/10; o
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= end
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Command Window

>> l=maghloob 2(123)
ql =

321
>> gZ=maghloob Z(&7¢)
qz =

678
>> 3=maghloocb 2Z(1)
q3 =

100
>> maghloob 2(313)
ans =

313
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] | Editor - CA\Users\Ya-Zahra\Documents\MATLAB\tadris\Torbat_Uni\n

| maghloob_1.m* | maghloob_2m | + |
1 function [ m ] = maghloob 2( n )
2
3 — a=mod(n,10) ;
4 — b=(n-a) /10 ;
== c=mod (b, 10) :
e — d=(b-c) /10 ;
7 — m= a*100+c*10+d;
a8
9 — end
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Current Folder @ _ Editor - C:\Users\Ya-Zahra\Documents\MATLAB\tadris\Torbat_Uni\ma 3;

Name « | maghloob_1.m* | maghloob_2m | maghloob_3.m | + | _

%z:g::zzﬂ: 1 ~Ifunction [ m ] = maghloob 3( n ) 3)

) maghloob_3.m 2 .

Bl test 1.m 3— | t=mod(n,100) ; %

4 — s=(n-t) /100; N

5)[= r=maghloob 1(t): ‘,;%

6 — m=r*10+s; CS

7 S

Details ~| 8- ~end I<_E

Workspace O 9 =
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[ function ]

| mean_T.m | + |

1 function [ M ] = mean 1( a,b,c )
2

3 - M= (a+b+c) /3;

4

5 — end

6

7

>> M=mean 1(10,14,30)
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3 - a=1lnput('a == "); %
4 — b=input ('b == "); ig
5 — c=input('c == "); y
6 —  M=(a+b+c) /3 3)
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clear zall

clc

n=input ('yek adad 3 raghami ra wvared koni

al= maghloob 2 (n)
az= maghloob 3 (n)
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clear all

clc

n=input ('your number ?= ");
al=sgrt(n)

az=abs (n)

a3=n~"Z

ad=mod (n, pi)

ab=s1in(n)
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| text_ T.m™ I —
e clc 3)
2 — clear all &,
B close all [Al
: 3
Z|= Lext1="ABCDEFGHIJELM'; A2
6 — text2="NOPQRSTUVWXYZ" ; 2
7 - text3 (1)=text2(end-1); -
8-  text3(2)=textl(l); <
g — text3(3)="-";
10 - text3 (4)=text3(2);
11 - text3 (5)=textl (sgqrt(2*8)*3);
12 — text3(e)=textl (end-sgrt (5*2-1)-1):
13 - disp (text3)
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| text 1.m* | + |

clc
clear 211
close 211

text]l="ABCDEFGHIJELM' ;

Cext2="NOPQESTUVWXYZ";

texti=textZ (5:10);

textd=textl (1:3:12);

texts="-";

texte=[text3, textd (3:end) ];
texti/=[texte(l:2:end), texts, textd (end:-2:1) ]
disp (text?)
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| text_T.m™ = | + | 3;
1= clc | =
2 — clear all :
3 - close all 3)
4 e
9 — Textl="ABCDEFGHIJELM' ; %
6 — Lext2="NOPQRSTUVWXYZ"'; -
7 — text3=textZ (5:10) ; ‘%
8 — textd=textl (1:3:12); 2
2= texth="'-"; m
10 — texté=[text3, textd (3:end)]; 3
11 - texti/=[texte(l:2:end), texts, textd (end:-2:1) 1: —
12 -  disp(text7) <
13 =
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